
Practice 13.5  

2-mode Structural Equivalence 
 

 

We run Tools|Similarities & Distances routine choosing matches on first the rows and then the columns of the Davis dataset. This will give matrices 13.6 and 

13.7. 



 



 

The two output datasets Davis-Mat-R and Davis=Mat-C are then submitted to the weighted average link hierarchical clustering as follows. Note we name the 

outputs PartWomen and PartEvents 



  



 

Finally as in previous examples we submit to Transform|Aggreate (includes CSS)|Block aggregate by partitions selecting column 10 for the women and 

column 9 for the events as shown below 



 

 The ouput will be the partitioned matrix shown in Figure 13.7 

 

 

  


